QUES 07
Fortheane-dmensionsl moton descibed by x =1 st
(x> 0forlit> 0 ®)v()> Ofr a0
(00> orallt>0 (@ ) s btween 0 and 2

ok (3, 0)Positon; x=t

Wi tme we getvelooty of the partce asa funcion o ime.

Velocity {1-sinr) =

4 cost
@

=
dt

If equation wr. time we will ge
the particle as a function of time.
v

Acceleration

=G cosn1=sint

As acceleration a > 0 for all 17 0
Hence, x(0)>0 forall >0
Velocity v = 1 —cos 1
When, cos 1= 1, velocity v=0
Vo= 1 = (€08 D= 1 = (-1) =2
Vo= 1~ (€05 D= 1-1=0
Hence, v lies between 0.and 2.

Acceleration =" =~sint
cleration =

When 1=0;x=0,
When 1=

0.a=0

x= positive, v=0,a = 1 (negative)
When 1= % x = postive, v = positive, a =0
mx=0, 0




